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RP/0/RPO/CPUO:motorhead#sh run int gigabitEthernet 0/1/0/3
interface GigabitEthernet0/1/0/3
cdp



ipv4 address 10.0.1.1 255.255.255.0

ipv6e address 2001:db8::1/64
1

RP/0/RP0O/CPUO:router#sh int gigabitEthernet 0/1/0/3 | i MTU
MTU 1514 bytes, BW 1000000 Kbit (Max: 1000000 Kbit)
RP/0/RP0O/CPUO:router#show im database interface gigabitEthernet 0/1/0/3

View: OWN - Owner, L3P - Local 3rd Party, G3P - Global 3rd Party,
LDP - Local Data Plane, GDP - Global Data Plane, RED - Redundancy

Node 0/1/CPU0O (0x11)

Interface GigabitEthernet0/1/0/3, ifh 0x01180100 (up, 1514)
Interface flags: 0x000000000010059f (IFCONNECTOR |IFINDEX

| SUP_NAMED_SUB | BROADCAST | CONFIG|HW|VIS|DATA

| CONTROL)

Encapsulation: ether

Interface type: IFT_GETHERNET

Control parent: None

Data parent: None

Views: GDP|LDP|L3P|OWN

Protocol Caps (state, mtu)

None ether (up, 1514)

arp arp (up, 1500)

clns clns (up, 1500)

ipvd ipv4 (up, 1500)

mpls mpls (up, 1500)

ipv6 ipv6_preswitch (up, 1500)
ipv6e ipv6 (down, 1500)
ether_sock ether_sock (up, 1500)

RP/0/RP0O/CPUO:router#show ipv4 interface gigabitEthernet 0/1/0/3 | i MTU

MTU is 1514 (1500 is available to IP)

RP/0/RP0O/CPUO:router#show ipvé interface gigabitEthernet 0/1/0/3 | i MTU

MTU is 1514 (1500 is available to IPv6)

RP/0/RP0O/CPUO:router#sh mpls interfaces gigabitEthernet 0/1/0/3 private location 0/1/CPUO
Interface IFH MTU

Gi0/1/0/3 0x01180100 1500
RP/0/RPO/CPUO:router#
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RP/0/RP0/CPUO:routerf#conf

RP/0/RP0/CPUO:router (config)#int gig 0/1/0/3

RP/0/RP0O/CPUO:router (config-if) #mpls mtu 1508

RP/0/RP0O/CPUO:router (config-if) #commit

RP/0/RP0O/CPUO:Mar 12 00:36:49.807 CET: config[65856]: %$MGBL-CONFIG-6-DB_COMMIT : Configuration
committed by user 'root'. Use 'show configuration commit changes 1000000124' to view the
changes.RP/0/RP0/CPUO:router (config-if) #end

RP/0/RP0O/CPUO:Mar 12 00:36:54.188 CET: config[65856]: $MGBL-SYS-5-CONFIG_I : Configured
from console by root on vty0 (10.55.144.149)

RP/0/RP0O/CPUO:router#sh mpls interfaces gigabitEthernet 0/1/0/3 private location 0/1/CPUO
Interface IFH MTU

Gi0/1/0/3 0x01180100 1500

RP/0/RP0O/CPUO:router#show im database interface gigabitEthernet 0/1/0/3

View: OWN - Owner, L3P - Local 3rd Party, G3P - Global 3rd Party,
LDP - Local Data Plane, GDP - Global Data Plane, RED - Redundancy

Node 0/1/CPU0O (0x11)

Interface GigabitEthernet0/1/0/3, ifh 0x01180100 (up, 1514)
Interface flags: 0x000000000010059f (IFCONNECTOR |IFINDEX

| SUP_NAMED_SUB | BROADCAST | CONFIG |HW|VIS|DATA

| CONTROL)

Encapsulation: ether

Interface type: IFT_GETHERNET

Control parent: None

Data parent: None

Views: GDP|LDP|L3P|OWN

Protocol Caps (state, mtu)

None ether (up, 1514)

arp arp (up, 1500)

clns clns (up, 1500)

ipvd ipv4 (up, 1500)

mpls mpls (up, 1500)

ipv6 ipv6_preswitch (up, 1500)
ipvée ipv6 (down, 1500)
ether_sock ether_sock (up, 1500)

RP/0/RPO/CPUO:router#

mpls mtu 1508 H&2 79I L|X|2 M | X| St &LICH MPLSS| MTUE show B&30{ A 1500H}0|
Eo|7| 2Lt ol= L3 5t Z2EZ0| &9 L2 IEmo|AQ| HOo|ZEELCH & MTUE 7+HE
= Q7| B YLCE.
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E{H| 0| A MTUE 1522HI0|E 2 T A48tL|C}.
. MPLSEF 1500H}0|EE Z1}E 4 QIEE L3 ZTZEZ 9| MTUE 1500H0|E 2 EQILC}.

RP/0/RP0O/CPUO:router#sh run int gig 0/1/0/3
interface GigabitEthernet0/1/0/3

cdp

mtu 1522

ipv4d mtu 1500

ipv4d address 10.0.1.1 255.255.255.0

ipvé mtu 1500



ipv6e address 2001:db8::1/64
1

1
RP/0/RP0O/CPUO:router#show im database interface gigabitEthernet 0/1/0/3

View: OWN - Owner, L3P - Local 3rd Party, G3P - Global 3rd Party,
LDP - Local Data Plane, GDP - Global Data Plane, RED - Redundancy

Node 0/1/CPU0O (0x11)

Interface GigabitEthernet0/1/0/3, ifh 0x01180100 (up, 1522)
Interface flags: 0x000000000010059f (IFCONNECTOR |IFINDEX

| SUP_NAMED_SUB | BROADCAST | CONFIG|HW|VIS|DATA

| CONTROL)

Encapsulation: ether

Interface type: IFT_GETHERNET

Control parent: None

Data parent: None

Views: GDP|LDP|L3P|OWN

Protocol Caps (state, mtu)

None ether (up, 1522)

arp arp (up, 1508)

clns clns (up, 1508)

ipvd ipv4 (up, 1500)

mpls mpls (up, 1508)

ipv6 ipv6_preswitch (up, 1508)
ipv6e ipv6 (down, 1500)
ether_sock ether_sock (up, 1508)

RP/0/RPO/CPUO:router#
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T/ dE ZF VLAN E 10 4HIO|EE F7IEMLICE [2HA dot1q 5H QIE{H 0| A 0= 4HIO|E, IEEE
802.1Q E{92(QinQ) 5%l QIE{H 0|A0f= 8HEO|E T} U& LIt

221, SYs 3710/ 13 S0l MRl QIEH 0|4 U ME QIEH 0lA ol M EHTIE 4 Q)
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RP/0/RPO/CPUO:router#sh run int gig 0/1/0/3
interface GigabitEthernet0/1/0/3

cdp

mtu 2000



RP/0/RP0O/CPUO:router#sh run int gig 0/1/0/3.100
interface GigabitEthernet0/1/0/3.100

ipvd address 10.0.2.1 255.255.255.0

ipve address 2001:db9:0:1::1/64

dotlg vlan 100
1

RP/0/RP0O/CPUO:router#sh int gig 0/1/0/3.100 | i MTU
MTU 2004 bytes, BW 1000000 Kbit (Max: 1000000 Kbit)
RP/0/RP0O/CPUO:router#show im database interface gigabitEthernet 0/1/0/3.100

View: OWN - Owner, L3P - Local 3rd Party, G3P - Global 3rd Party,
LDP - Local Data Plane, GDP - Global Data Plane, RED - Redundancy

Node 0/1/CPU0O (0x11)

Interface GigabitEthernet0/1/0/3.100, ifh 0x01180260 (up, 2004)
Interface flags: 0x0000000000000597 (IFINDEX |SUP_NAMED_ SUB

| BROADCAST | CONFIG|VIS|DATA |CONTROL)

Encapsulation: dotlg

Interface type: IFT_VLAN_SUBIF

Control parent: GigabitEthernet0/1/0/3

Data parent: GigabitEthernet0/1/0/3

Views: GDP|LDP|L3P|OWN

Protocol Caps (state, mtu)

None vlan_jump (up, 2004)

None dotlg (up, 2004)

arp arp (up, 1986)

ipvd ipv4d (up, 1986)

ipv6 ipv6_preswitch (up, 1986)
ipvée ipv6 (down, 1986)

RP/0/RPO/CPUO:router#
show BH0M 5+ QIE{H 0|A S| MTUE 2004 LICH 3+ QIE{H O|A oo dot1q EHZ7F SFLt
TAME0] oo 2 F QIE{H|0|A S| MTUO| 4HI0|EE F7}EHLCE.

gLt IPv4 2 IPve THZ! ol MTUE 0715 & QIE{H0[A(1986)2 MTURt SYUELICH L3 EZEE
29| MTU7} 2004 - 14 - 4 = 19862 2 H|AHE| 7| 2l L|Ct.

miu HY 59 AEIHO|A0IM FAE £ UKIBH, THE MTUE F IEH 0|20M 448
MTUSECH S 74L} 22 ZRofg MSELICKE IEIH 0|20 MTUETH 4HH0IE Cf &),
519/ QIE{H 0|A0] MTU7H 448 MTURL 8 Z9, 047|0 EAIE ZE HBEIX| etaict

RP/0/RP0O/CPUO:router#sh int gig 0/1/0/3.100 | i MTU
MTU 2004 bytes, BW 1000000 Kbit (Max: 1000000 Kbit)
RP/0/RPO/CPUO:router#cont

RP/0/RP0/CPUO:router (config)#int gig 0/1/0/3.100
RP/0/RP0O/CPUO:router (config-subif) #mtu 2100
RP/0/RP0O/CPUO:router (config-subif) #commit
RP/0/RP0O/CPUO:router (config-subif) #end
RP/0/RP0O/CPUO:router#sh int gig 0/1/0/3.100 | i MTU
MTU 2004 bytes, BW 1000000 Kbit (Max: 1000000 Kbit)
RP/0/RPO/CPUO:router#
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OHEE7ERIZ, 512 QIE{H O|A L2 HO|2EMM &&EEI L3 MTUL 442 RFV| fISH L3 ZEEZ
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RP/0/RPO/CPUO:routerl#sh 1l2vpn xconnect
Legend: ST = State, UP = Up, DN = Down, AD = Admin Down, UR = Unresolved,
SB = Standby, SR = Standby Ready, (PP) = Partially Programmed

XConnect Segment 1 Segment 2
Group Name ST Description ST Description ST

mtu mtu DN Gi0/0/0/2.201 UP 10.0.0.12 201 DN

RP/0/RP0O/CPUO:routerl#sh 12vpn xconnect detail

Group mtu, XC mtu, state is down; Interworking none

AC: GigabitEthernet0/0/0/2.201, state is up

Type VLAN; Num Ranges: 1

VLAN ranges: [201, 201]

MTU 2000; XC ID 0x1080001; interworking none

Statistics:

packets: received 0, sent 0

bytes: received 0, sent 0

drops: illegal VLAN 0, illegal length 0

PW: neighbor 10.0.0.12, PW ID 201, state is down ( local ready )
PW class mtu-class, XC ID Oxfffe0001

Encapsulation MPLS, protocol LDP

Source address 10.0.0.2

PW type Ethernet, control word disabled, interworking none
PW backup disable delay 0 sec

Sequencing not set

PW Status TLV in use

MPLS Local Remote

Label 16046 16046

Group ID 0x1080100 0x6000180

Interface GigabitEthernet0/0/0/2.201 GigabitEthernet0/1/0/3.201
MTU 2000 1986
Control word disabled disabled

PW type Ethernet Ethernet

VCCV CV type 0x2 0x2

(LSP ping verification) (LSP ping verification)
VCCV CC type 0x6 0x6

(router alert label) (router alert label)

(TTL expiry) (TTL expiry)

Incoming Status (PW Status TLV) :

Status code: 0x0 (Up) in Notification message
Outgoing Status (PW Status TLV) :



Status code: 0x0 (Up) in Notification message

MIB cpwVcIndex: 4294836225

Create time: 18/04/2013 16:20:35 (00:00:37 ago)

Last time status changed: 18/04/2013 16:20:43 (00:00:29 ago)
Error: MTU mismatched

Statistics:

packets: received 0, sent 0

bytes: received 0, sent 0

RP/0/RP0O/CPUO:routerl#

RP/0/RP0O/CPUO:routerl#sh int GigabitEthernet0/0/0/2 | i MTU
MTU 2014 bytes, BW 1000000 Kbit (Max: 1000000 Kbit)
RP/0/RP0O/CPUO:routerl#sh int GigabitEthernet0/0/0/2.201 | i MTU
MTU 2018 bytes, BW 1000000 Kbit (Max: 1000000 Kbit)
RP/0/RP0O/CPUO:routerl#

o] ofloil M= 2t &2| MPLS L2VPN PE(Provider Edge)7F PWE 22|7] 951 st MTU Ztoll Al
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718 oZ HEst HYO ALES5lod EjfaE PWE S&l EE XD S ELICH W2k HI EVC
Z 31 E0d| A EHILE AXsHor StEE 7|2 Mo R EfOE MHE 27t el ot
A EIOE S ALE =4 2 f/oll F7FE T E FAISHEA™ rewrite BES AFEELICEH
5t2| QIE{m| o[ A MTUE Hbtstzd™ 7|2 QIE{H 0|A MTU(7I%Z = 7|2 QUE{H 0|4 of2Hod|
FSO 2 FGE CIEHH0|A)E AFE OI'__'L encapsulation @S 2 -_r“"'i._I Zk VLAN E{Z101| 4H} O]
EE FIIELICH RHME LI82 ELHEFP &3 HHE XA,

5t olE‘|11‘||0|A OF2HOd mtu 20| e B2 AME MTUELH 2 ZAL0BF M E|L|C}. rewrite
HH2 51 QE{Ho|A2| MTUM| F&S FX| f&LCt

T

o€ EH CtSot Z&Lh

RP/0/RSPO/CPUO:router2#sh run int gig 0/1/0/3
interface GigabitEthernet0/1/0/3

cdp

mtu 2014

negotiation auto
|


https://techzone.cisco.com/#anc10

RP/0/RSPO/CPUO:router2#sh run int gig 0/1/0/3.201
interface GigabitEthernet0/1/0/3.201 1l2transport
encapsulation dotlg 201 second-dotlg 10

rewrite ingress tag pop 2 symmetric
1

RP/0/RSPO/CPUO:router2#

RP/0/RSP0O/CPUO:router2#sh int gig 0/1/0/3.201

GigabitEthernet0/1/0/3.201 is up, line protocol is up

Interface state transitions: 1

Hardware is VLAN sub-interface(s), address is 0024.986c.63f3

Layer 2 Transport Mode

MTU 2022 bytes, BW 1000000 Kbit (Max: 1000000 Kbit)

Of ofofl M 7|2 2IE{mo|A o] MTU= 2014HEO|EILICH. 52| IE{m| oA ofz2fol & 7He| Ef 27t
TgE|o] QIS 2 2 8HIO|EE FIHELICEH

519 QIE{H O| A0 A mtu 2026HI0|EE FA5tH 7|2 IE{H 0|A(2022)0| A &<l 5+ QE{mH|
Oo|AS| MTUELI 37| HE| MEE|X| &LICH W2t 2022H0|EEC 22 519 QlE{H 0|A
MTUDl' ?.A‘lol‘ A OIAL_||_—_|._

0| 3t CIE{m|o|A MTUE 7|8t 2 [o|tHol| A|Z 23 E|= MPLS LDP H|0|2E | MTUE H|4t
st 2474 L2VPN PEO|AM AH|Atst I 0|2 =9} S 8HX| & QIsL|C} 047 M rewrite EE0| Al E
L|CF.

MPLS LDP HO|Z2E2| MTUE 7|At5tE{H 519 QIE{HO|AS| MTUE 7HX2 CtS CI&E s
L|Ct

1. Ol Sl|IH0d| CHEH 14HIO|EE L|Ct.

2. 5t QIE{H O|A of2fofl M El rewrite WA B E ZF E§ 0 CHSH 4HIO|EE WHL|CT

3. 5+l CIE{m|0|A ool T AE! rewrite BRIONM F AEl Zf Ef20d| CHEH 4HIO|EE F7IHEFL
Ct.

Ol gig 0/1/0/3.2012] QinQ Z1L|1 o]t STt od Lt

interface GigabitEthernet0/1/0/3

cdp

mtu 2014

negotiation auto

|

interface GigabitEthernet0/1/0/3.201 l2transport
encapsulation dotlg 201 second-dotlg 10

rewrite ingress tag pop 2 symmetric
|

RP/0/RSPO/CPUO:router2#sh int gig 0/1/0/3.201
GigabitEthernet0/1/0/3.201 is up, line protocol is up
Interface state transitions: 1

Hardware is VLAN sub-interface(s), address is 0024.986c.63f3
Layer 2 Transport Mode

MTU 2022 bytes, BW 1000000 Kbit (Max: 1000000 Kbit)

O|= MPLS LDP HO|2E=9| MTUO CHEF Hlarl L}

1. 612 QUE{H O]|A MTUL| MTU %t: 2022HI0|E
2. O|HY! 3{| 14H}IO|E B 7]: 2022 - 14 = 2008H}0|E
3. 0l M EHAE ZF eEf 70 CHEH 4HEO|E tif 7| RHEH =3: 2008 - 4 * 2 = 2000
#HZ4% 01 A 20006} 0|E Q| MPLS LDP HIO|2E& F D st=X| &QIgfLIct JFEX| foM™ 2EH



rir
e

74 9474 3|Z(AC) MTU A 7|7} LxIStE S =X &thLc.

RP/0/RSP0O/CPUO:router2#sh 1l2vpn xconnect det

Group mtu, XC mtu, state is up; Interworking none
AC: GigabitEthernet0/1/0/3.201, state is up

Type VLAN; Num Ranges: 1

Outer Tag: 201

VLAN ranges: [10, 10]

MTU 2000; XC ID 0x1880003; interworking none

57 EFP(Ethernet Flow Point) Zi& 3} 33

olz4st H=sle URlsteE MZ El2Z HAEEZ 62 QE{HO|A MTUSE F7HA|IZ|X| ok&LCH
- Y=g el Qlg
- HES 712U

|
olz{gt &3t =M= st 2l QAEH0|A MTUE AHldtete Ol 228 Bl ol IS K| k&

. 4|o|E|E
. HO|2E O| EtY
. HESt
L 3AA
. 21334 source-mac EE= 212 3|A destination-mac
=3t [dot1q|dot1ad] M =2 E{T 7t X|HE F Y B x|5te R 2 7t EuCh

7t b3 B LRIZ MEE|E any' 7|HEE 5t 2IE{H 0|A MTUE S7HAIZIX| f&LICH.

. Z& 3} dot1q any= 52| QIE{HO|A MTUE &7HAIZ|X| et &LICH.
- 218} dot1ad 10 dot1q any= StLto| EfI 2 ZHF [, 5+l QIE W 0|A MTUZt 4HFO|E &7t
ghuct.
. Z4& 3} dotlad any dot1q 72 5 7Ho| Ef1 2 7HFE|H, 5t QIE{H|0|A MTUZI 8HIO|E &7}
ghLc.
VLAN-IDS| #He|= 59| QIE{H 0|A MTUE &7HAIZLIC

- Z& 2} dot1q 10-1002 StLtL| BiT 2 7HFE|H, 5+9 QIE{H 0|A MTUZ} 4HO|E S 7HE LT
TE T EFPL| &3 MTU QHEIEE 2|49 249 MTUZ XE|E LICH

- 2= dot1q 10-100, 10-100 HL7I 71 =2 Q40(7| EH E{27t X|HE|X| 2 B2 3t
Lto| E{ 2 ZHFElL|Ct.

Hl EVC(XR 12000 %! CRS)

Cisco XR 12000 Series 2t E| & CRS(Carrier Routing System)2}t 22 2t E{& 5t QIE{H o|A
oll A VLAN Ux|E 9IsH 7IZ Aum|adolMe AHSEfLICH o|2f3t S42 Eve =S mEX| St
CRS 2 XR 12000 2t E{2| L2VPN L2 2IE{H|0]A0f XS ELIC}.

P)

- HIEVC EE0|X E0{2&= dot1q E= dotlad Ef 1= L2 & 5t QIE{H O] A0 A = 4IE
m AHS2 2 M7HELICH



. AMSE B MPLS LDP2| HO|2ZE 37| HIAHE = show interface @ &0 Lot /= AR
= 5t °|E-Iu1|0| O MTUM|M E}T 2 7(|E WL|Ct.

. O|= BIRE|E 519 QIE{H|0|A 0| B}t FAFELICEH

. 512 °._|E-|1HIOI_E 7|2 QE{Ho|AMWM MTUE & &EFLICEH 31| QIEHo|ASl MTUE |4t
5t7| @5 Zf Ef12| 4HIO|EE 7|2 QIEH0|A L MTUM| FIHEHLICH o & S04, QinQ 5+
CIE{H|O|A 0] dot1q EH27F 270 = B2, ZIBMO R 59 QIEmo|A S| MTUE 7|& QIE T

O|A°| MTUEL} 8HIO|E O SLIC}.
. £ 52| QIE{H| O A ofEHO M mtu BHE2 AHSE = UX|TH o] BHES 7|2 QEH 0|A 9]
MTUMIM & &&= 5H9 QIE{H O|A 2] MTUE £0|= OBt AFEELICH
olz{8t S22 BEoiF&= H 7tX| 0ol & ATHEHCY.

O| ool A= HI EVC 2] QIE{H|0]A 7} o{EH F SR =X Eo{E LT

RP/0/RP0O/CPUO:routerl#sh run int gigabitEthernet 0/0/0/2.201
interface GigabitEthernet0/0/0/2.201 l2transport
dotlg vlan 201

RP/0/RP0O/CPUO:routerl#
HlEVC £ &2 EVC £31 & (ASR9000)2| Zi=st ! Rizf4 B CH4l dot1q vian E= dot1ad
vian BE S AL ELCt.

< O_IE4n+IOI/\01|H MTUE BA|MoE 75X ot 7|22 2 1500H0|E L3 I

RP/0/RP0O/CPUO:routerl#sh int gig 0/0/0/2 | i MTU
MTU 1514 bytes, BW 1000000 Kbit (Max: 1000000 Kbit)
RP/0/RP0O/CPUO:routerl#sh int gig 0/0/0/2.201 | i MTU
MTU 1518 bytes, BW 1000000 Kbit (Max: 1000000 Kbit)
RP/0/RPO/CPUO:routerl#

3¢l QIE{m|O|A MTUE 7|8 QIE{H 0]A MTU(1514)0ll M AHlAHE|DH, ZF dot1q Ef 201 4HIOIEE
F7tErLct. 519 QIE{m| 0| A0 dot1q vlan 201 HHo = 4 E EH].7|- St QIe 2 2 MTU
1518HFO|E0i| CHEH 15140 4HIO|EE F7}&EFLICH

MPLS LDP2| s{{E HO|2E= MTUE 150080/ EILIC}. O|HY! Sl|C{e| 14HIO|E 7} HME|X| et 1
H| EVC Z31&0IM PWE =& [ dot1q EH StLI7F AFS 22 HUE7| E ILICEH

RP/0/RPO/CPUO:routerl#sh 1l2vpn xconnect detail

Group mtu, XC mtu, state is down; Interworking none
AC: GigabitEthernet0/0/0/2.201, state is up

Type VLAN; Num Ranges: 1

VLAN ranges: [201, 201]

MTU 1500; XC ID 0x1080001; interworking none

Z OIE{H|0|A S| MTUE 2014HI0|EZ =2|H 59| QIE{m o|A S| MTUZF 10| 2t S 7HEFLICE

RP/0/RP0O/CPUO:routerl#sh run int gig 0/0/0/2

interface GigabitEthernet0/0/0/2

description static lab connection to head 4/0/0 - dont change
cdp

mtu 2014



ipv4 address 10.0.100.1 255.255.255.252

load-interval 30
1

RP/0/RP0O/CPUO:routerl#sh run int gig 0/0/0/2.201
interface GigabitEthernet0/0/0/2.201 1l2transport

dotlg vlan 201
1

RP/0/RP0O/CPUO:routerl#sh int gig 0/0/0/2 | i MTU
MTU 2014 bytes, BW 1000000 Kbit (Max: 1000000 Kbit)
RP/0/RP0O/CPUO:routerl#sh int gig 0/0/0/2.201 | i MTU
MTU 2018 bytes, BW 1000000 Kbit (Max: 1000000 Kbit)
RP/0/RP0/CPUO:routerl#sh 12vpn xconnect detail

Group mtu, XC mtu, state is down; Interworking none
AC: GigabitEthernet0/0/0/2.201, state is up

Type VLAN; Num Ranges: 1

VLAN ranges: [201, 201]

MTU 2000; XC ID 0x1080001; interworking none

[0+ 2} A MPLS LDP MTUE A&tk 7| 9134 O|EiL S 14HH0I= & W1, 519] QIE{B[0]4 of2Hof
T M=l ZF E|70i 4HFO|EE B C}.

xS ol QlE{H o|A E20|H MTU & MRU 4

o|C{4! QIE{H|0| A0 A CIE{H|0|A EEZIO|HE QIE{H|O|A MTU HI|Z80o|ME J|HICZ 5
MTU 2 MRUZ FAE/L|C}.

Fl'F

o|4! QIE{H|0|A E2to|{ol A= MTU 2 MRU+E show controller <interface> all @&o = &t
olgh £ Ql&Lct.

Cisco I0S XR Release 5.1.1 O|™ & 2|A0|ME IE{H 0|A Q| Cisco I0S XR MTU Z4xZ| 12| 0|M
of 2t ol QIE{H| 0| A E2IO|HH 2| MTU ! MRUZt RIS 22 M E|QI&LICH

ol E2to|Hof| A E MTU/MRUE 272 ol Ef1 &l CRC ZEZ F7I617| {6 + M=
MTU + 12H}O|EE 7|8to 2 F&LICH 59 QIE{Ho|A 0 F+4E VLAN Ef27} Ql=X| o4& of &
H|Q10| 12HIO0|E 7} O|HY! E2}0|B{ MTU/MRUO]| F7HE[A&LICH

Cisco I0S XR Release 5.1.1 0|F2] 2 & Cisco I0S XR H{7& 2! ASR 9000 QIE{m|o|A Q| 7|&
MTU 15149 of| = CtSa+ Z&L|Ct

RP/0/RSP0/CPUO:ASR2#show interface Gi0/2/0/0
GigabitEthernet0/2/0/0 is up, line protocol is up
Interface state transitions: 3
Hardware is GigabitEthernet, address is 18ef.63e2.0598 (bia 18ef.63e2.0598)
Description: Static_Connections_to_ME3400-1_Gi_0_2 - Do Not Change
Internet address is Unknown
MTU 1514 bytes, BW 1000000 Kbit (Max: 1000000 Kbit)

<snip>
MTU/MRU programmed on ethernet interface driver is 1514 + 12 bytes
RP/0/RSP0/CPUO:ASR2#show controllers Gi0/2/0/0 all

<snip>
Operational values:



Speed: 1Gbps

Duplex: Full Duplex
Flowcontrol: None

Loopback: None (or external)
MTU: 1526

MRU: 1526

Inter-packet gap: standard (12)

<snip>

Cisco IOS XR Release 5.1.1 O|& 0| M= O|HY! QIE{H|O|A EE}O|BH0]| AFR El= MTU & MRU7Z}
HEAEIR2 O|A| 512 QIE{H|O|A 0 72AEI VLAN El1 =8 7|&E2 2 FLICH

5t Qe o| A0 7dE VLAN Ef27} = B9 EEHO|H MTU/MRUE QIE{H| 0|A Q| M4 E
MTU + 4 CRC HFO|E(0d: 1514 + 4 = 1518 H}O|E)9} Z-&LCh.

5t QIE{H| 0| A0 St VLANO| HEl Z2 EEH0|H MTU/MRU= T4 E MTU + 8HHO|E(1EH
71+ CRC)Q+ ZH&LICHOY: 1514 + 8 = 1522H 0| E).

2lo|9| 52| QIE{T|0|A 0l 2702] VLAN Ef27} FAE AL E2}0|H MTUMRUE TAIE MTU +
12HLO|E (27 B2 + CRC)QF Z&LICHO: 1514 + 12 = 1526HI0|E)

any 7|E7t Z&E QinQ7F F HM do1q Ef20f| CHEH + 8 E A< EEH0|HH MTUMRUE T+ 4 E
MTU + 8HFO|E(1 Ef1 + CRC)Qt Z&LICHO: 1514 + 8 = 1522HI 0| E).

CH= oflofl A= ASR 90002] Cisco I0S XR ZIZ|A 5.1.1 O|A0| M S22 EA|ELICE

RP/0/RSPO/CPUO:ASR2#sh run int ten0/1/0/0
interface TenGigE0/1/0/0
cdp

RP/0/RSP0O/CPUO:ASR2#show controllers ten0/1/0/0 all

<snip>
Operational values:
Speed: 10Gbps
Duplex: Full Duplex
Flowcontrol: None
Loopback: Internal
MTU: 1518
MRU: 1518
Inter-packet gap: standard (12)
<snip>

RP/0/RSP0O/CPUO:ASR2#config

RP/0/RSPO/CPU0:ASR2 (config-if) #int ten0/1/0/0.1
RP/0/RSP0O/CPU0:ASR2 (config-subif) #encapsulation dotlg 1
RP/0/RSP0O/CPU0:ASR2 (config-subif) #commit

RP/0/RSP0O/CPUO:ASR2#show controllers ten0/1/0/0 all

<snip>
Operational values:
Speed: 10Gbps
Duplex: Full Duplex
Flowcontrol: None
Loopback: Internal
MTU: 1522
MRU: 1522
Inter-packet gap: standard (12)



<snip>

RP/0/RSP0O/CPUO:ASR2#config

RP/0/RSP0O/CPU0:ASR2 (config) #int ten0/1/0/0.2

RP/0/RSP0O/CPU0:ASR2 (config-subif) #encapsulation dotlqg 10 second-dotlg 20
RP/0/RSP0O/CPU0:ASR2 (config-subif) #commit

RP/0/RSP0O/CPU0O:ASR2#show controllers ten0/1/0/0 all

<snip>
Operational values:
Speed: 10Gbps
Duplex: Full Duplex
Flowcontrol: None
Loopback: Internal
MTU: 1526
MRU: 1526
Inter-packet gap: standard (12)
<snip>

RP/0/RSP0O/CPUO:ASR2#config

RP/0/RSP0O/CPU0:ASR2 (config) #int ten0/2/0/0
RP/0/RSP0O/CPUO:ASR2 (config) #cdp

RP/0/RSP0O/CPU0:ASR2 (config) #int ten0/2/0/0.1 l2transport
RP/0/RSP0O/CPU0:ASR2 (config-subif) #encapsulation dotlqg 10 second-dotlg any
RP/0/RSP0O/CPU0:ASR2 (config-subif) #commit

RP/0/RSP0O/CPU0O:ASR2#show controllers ten0/1/0/0 all

<snip>
Operational values:
Speed: 10Gbps
Duplex: Full Duplex
Flowcontrol: None
Loopback: Internal
MTU: 1522
MRU: 1522
Inter-packet gap: standard (12)

CHEE 0] 79 YEIA 5.1.1 040l O] S5H0| HZEI{T QIEIH|0|A 2] MTU ZZ|23 0|4

olg{st S5 ¥4 YU VLAN B2 7 E 519 QIE{H|o|A 0| B EXME Yo Z £ QK|EH
= 7He| VLAN Ef 2 miZ!2 FAIELICE o] B2 =4IE miZl0] O|HY QIE{m0|A EE0[H 9]
MRUE Z=1teh = Ql&LICt o|2H8t Z7d2 M7H5t7| e QIE{H 0|A MTUE 4HIO|E =E2|HLE
2712| VLAN Ef2 2 7 E 5t CIEHO|AE A8 E = U&LICH

22lA 5.1.19| At& O|HY QIE{H|0|A EEFO|H MTU & MRU #+/82 CRS 2! ASR 9000 2 <E
of CHal S YELICH gLt 22lA 5.1.12 A&5t= CRS 2HE{0| A= show controller 210 &
AlEl MTU 2 MRU Ztofl 4HI0|E CRC7} =& E|X| et&L|Ct EDEl ghAlo| S22 CRSQ}
ASR9000 7+of S 5tK| f&LICt.

RP/0/RP0O/CPUO:CRS#sh run int ten0/4/0/0
Mon May 19 08:49:26.109 UTC
interface TenGigE0/4/0/0

<snip>

Operational values:
Speed: 10Gbps
Duplex: Full Duplex



Flowcontrol: None

Loopback: None (or external)
MTU: 1514

MRU: 1514

Inter-packet gap: standard (12)

RP/0/RP0O/CPUO:CRS(config) #int ten0/4/0/0.1
RP/0/RP0O/CPU0:CRS (config-subif) #encapsulation dotlq 1
RP/0/RP0O/CPUO:CRS (config-subif) #commit

Operational values:
Speed: 10Gbps
Duplex: Full Duplex
Flowcontrol: None
Loopback: None (or external)
MTU: 1518
MRU: 1518
Inter-packet gap: standard (12)

MTU 2! MRU7} ASR 90002| show controller £230i E ALl HAI2 L}So0f B4ZE (01 CRC 4H} 0|
E7} ..‘i*lE._' MTU/MRU Zfoll Z& Z|X| ot&LICt olgd8r & & HZA2 Cisco H1 ID
CSCu093379E& AI&35t0{ FX& £ Ql&L|CH,

B2|lA& 5.1.1 0| EE[A20|M BE|A 5.1.1 O|42E o] =& mf Zm|aa o]
ey

. 7|8 MTU:
2I2|A 5.1.1 0|9 ZI2|A0A 52 CIE{HO|A 7} Q1 mtu W2H0| Qe 7|2 QIE{H|0|A T Q=
7d0o.
oOT .

interface TenGigE0/1/0/19

l2transport
!

O| @IE{H[O|AE dot1q EEE QinQ ZE|FE HM&sEE 224 5.1.1 0|40 MTUE "mtu
1622"2 £S5 02 TAISHOF BHLIC

interface TenGigE0/1/0/19
mtu 1522

l2transport

|

O| ZAT|2B)o|AME AL 5T O|F Zlg|A0|AMQF ZHo
Ol=l dot1qBt M&3tedE MTU 22 15182 &

| QinQ Z&i|¥E &Y = U&LICH QinQ7t
A
T AAl:iLIEI'

dot1q == QinQo| CHaH A E! 319 CIE{HIO|ATE RUXIB "any" 7| =2t & 7H 2702 BWA|M Ef
7t %= QinQ 512l QIE{H| 0| A7} Release 5.1.1 O|™ ZIZ|AM FME|X| ot HAL:

interface TenGigE0/1/0/19
|
interface TenGigE(0/1/0/19.100 l2transport

encapsulation dotlg 100
|


http://cdets.cisco.com/apps/dumpcr?&content=summary&format=html&identifier=CSCuo93379
http://cdets.cisco.com/apps/dumpcr?&content=summary&format=html&identifier=CSCuo93379

interface TenGigE0/1/0/19.101 1l2transport

encapsulation dotlg 101 second-dotlg any

!

Release 5.1.1 O|&0iHE O] A2 o|ME S5 StLIC EfO2 Z e MEE + eaZ
QinQ Zoi|YE ME5tE{T MTUE 4HIO|E =822 =E{0f §LCt

interface TenGigE0/1/0/19

mtu 1518

!

interface TenGigE0/1/0/19.100 l2transport
encapsulation dotlg 100

1

interface TenGigE(0/1/0/19.101 1l2transport

encapsulation dotlg 101 second-dotlg any
!

2702l HAIX Ef1("any" 7IREE AFE6HX| &t 2)7F ZEE QinQ &9 QIE{H 0|A 7} A EI F
Release 5.1.1 0|42 2 ag0|=& | MTU HI|ado|Me £-He T 7t eiaLch

interface TenGigE0/1/0/19
!
interface TenGigE0/1/0/19.101 1l2transport

encapsulation dotlg 101 second-dotlg 200
!

L2 M& o+l QUE{H| 0|A Tl 91 L3 EHRE|=E QIEHO|ADF Q= B2 MTU ZHI|ad|0|MH0| &2
ol Ux|stT MEEI= MTUELH 2 = p|Qo| 9ie 7o = oAt 'L,IE} 2/3|A 511 0|2 9
adflol=g A2 MTU Ax|asdolMe dololE %E ZIQ 7t &Lt

. 22[A 511 0| &2|AQe| Z|£0| ot MTU:
OFEE7ER[Z2, 2|4 5.1.1 0| 2 E|AMAM Z[&0] ot MTUZF A EIR T 5+ QIE{H| 0| AT 7
SE|X| %2 dot1qg EE= QinQ Z U2 ME6HoF 5t < EElA5.1.1 0|2 Yado|l=
& FAMEIMTU 2 8HP0|E =240F FLct.

2Ig|A 5.1.1 0| &lg|A:

interface TenGigE0/1/0/19
mtu 2000

l2transport
1

EEEI 5.1.1 O|4t Hago|l=EE B MTUE 8HIOIE =522 =240f &fLC}.

interface TenGigkE0/1/0/19

mtu 2008
l2transport
dot1q o2 E-|1H|0|*7P A1 QinQ 5t CIE{H 0| A7} Qi7ALE 5 HHMH dot1q EH204 CHSH any 7|

e Q
flE7t ZEE QinQ 52| QUE{H 0|AT} gis AR FHE MTU g(0| 4HI0|E & 7t5HofF &LCH

2|2 5.1.1 O/ &E|A:



interface TenGigE0/1/0/19

mtu 2000

!

interface TenGigE0/1/0/19.100 l1l2transport
encapsulation dotlg 100

1

interface TenGigE0/1/0/19.101 1l2transport
encapsulation dotlg 101 second-dotlg any

2I2|A 5.1.1 0|4t

interface TenGigE0/1/0/19

mtu 2004

!

interface TenGigE0/1/0/19.100 l2transport

encapsulation dotlg 100

!

interface TenGigE0/1/0/19.101 l2transport

encapsulation dotlg 101 second-dotlg any

!

2742 BA|M Ef("any" 7|HEE AME5IX| &t2)7t ZEEl QinQ §t¢ QEHo|AT FHE B2,
2E|A 511 0|42 YIOelo|=g mf MTU ZAT|2B0|ME =HE LRIt ei&Lict

interface TenGigE0/1/0/19
!
interface TenGigE(0/1/0/19.101 1l2transport

encapsulation dotlg 101 second-dotlg 200
!
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